

ENVIRONMENTAL PRODUCT DECLARATION

In accordance with EN 15804 and ISO 14025

Construction Rigips profiles

Date of issue: 2022-10-03 Validity: 5 years

Valid until: 2027-10-02

Scope of the EPD®: Czech Republic



The environmental impacts of this product have been assessed over its whole life cycle. Its Environmental Product Declaration has been verified by an independent third party.

Verification number:

3013EPD-22-0286





General information

Manufacturer: Saint-Gobain Construction Products CZ a.s., Divize Rigips, Smrčkova 2485/4, 180 00 Praha 8 -

Libeň, Czech Republic

Programme used: The National programme of environmental labelling, CENIA, the Czech Environmental Information Agency

Verification number: 3013EPD-22-0286

PCR identification: EN 15804 Sustainability of construction works – Environmental product declaration - core rules for the product category of construction product.

Site of manufacture: Saint-Gobain Construction Products CZ a.s., Divize Rigips, Smrčkova 2485/4, 180 00 Praha

8 - Libeň, Czech Republic

Owner of the declaration: Saint-Gobain Construction Products CZ a.s., divize Rigips,

Product / product family name and manufacturer represented: Construction Rigips profile / Hot-dip galvanized steel profiles / Saint-Gobain Construction Products CZ a.s., divize Rigips,

Declaration issued: 2022-10-03

Valid until: 2027-10-02

Demonstration of verification: an independent verification of the declaration was made, according to ISO 14025:2010. This verification was external and conducted by the following third party: Building Research Institute – Certification Company Ltd., Pražská 810/16, 102 00 Praha 10 – Hostivař, Czech Republic, based on the PCR mentioned above.

EPD Prepared by: Saint-Gobain central LCA team.

Contact: Milan Danek from Saint-Gobain Construction Products CZ a.s., Divize Rigips (<u>milan.danek@saint-gobain.com</u>) and Patricia Jimenez Diaz from central LCA team (<u>Patricia.JimenezDiaz@saint-gobain.com</u>)

The declared unit is 1 kg of Rigips hot-dip galvanized steel profiles for building application.

Declaration of Hazardous substances (Candidate list of Substances of Very High Concern): none

Geographical scope of the EPD®: Czech Republic

EPDs of construction products may not be comparable if they do not comply with EN 15804.

	EN standard EN 15804 serves as the core PCR ^a
PCR:	EN 15804 Sustainability of construction works — Environmental product declaration - core rules for the product category of construction product.
Independent ve	rification of the declaration, according to EN ISO 14025:2010 Internal □ External ⊠
Third party verifier:	Building Research Institute – Certification Company Ltd. Pražská 810/16, 102 00 Praha 10 – Hostivař Czech Republic
Accredited or approved by	The National programme of environmental labelling, CENIA, the Gzech, Environmental Information Agency

Product description

Product description and use:

This Environmental Product Declaration (EPD®) describes the environmental impacts of 1 kg of Rigips hot-dip galvanized steel profiles for building application.

Rigips profiles are light gauge profile made of hot-dip galvanized sheet steel, which makes them excellent in strength, durability and longevity. Among the profiles you will find both steel thin-walled galvanized profiles for creating a load-bearing grate of plasterboard partitions, as well as profiles for the construction of ceilings, adjustment brackets, couplings, etc.

Technical data/physical characteristics:

Reaction to fire	A1	CSN EN 14195
Limit of permeability	180 N/mm2	CSN EN 14195
Class of protective layer	Z100	CSN EN 14195
Exposure class	В	CSN EN 13964

Description of the main components and/or materials for 1 kg of product for the calculation of the EPD®:

PARAMETER	VALUE (expressed per functional unit)
Quantity of metal profile	1 kg
Packaging for the transportation and distribution	Plastic straps: 0,4 g/kg Wooden bearer: 6 g/kg
Installation	No material included

During the life cycle of the product no hazardous substance listed in the "Candidate List of Substances of Very High Concern (SVHC) for authorization" has been used in a percentage higher than 0,1% of the weight of the product.

The verifier and the program operator do not make any claim nor have any responsibility of the legality of the product.

LCA calculation information

EPD TYPE FUNCTIONAL	Cradle to Gate with options
FUNCTIONAL UNIT	1 kg of Rigips hot-dip galvanized steel profiles for building application. The gauge of the profiles varies between 0,6 - 2mm. The density of the Rigips profiles is 7850 kg/m3. The dimensional specifications datasheet can be referenced to calculate the weight of a linear meter of each type of profile. This can then be applied to calculate assumed environmental impacts for that profile from the LCA results
SYSTEM BOUNDARIES	Cradle to Gate with options: Mandatory stages = A1-3; Optional stages = A4-5, B1-7, C1-4.
REFERENCE SERVICE LIFE (RSL)	50 years By default, it corresponds to Standards building design life and value is included in Appendix III of Saint-Gobain Environmental Product Declaration Methodological Guide for Construction Products.
CUT-OFF RULES	Life Cycle Inventory data for a minimum of 99% of total inflows to the upstream and core module shall be included Flows related to human activities such as employee transport are excluded. The construction of plants, production of machines and transportation systems are excluded since the related flows are supposed to be negligible compared to the production of the building product when compared at these systems lifetime level.
ALLOCATIONS	Production data, recycling, energy and waste data have been calculated on a mass basis.
GEOGRAPHICAL COVERAGE AND TIME PERIOD	Scope includes: Czech Republic Data included is collected from Saint-Gobain Construction Products CZ a.s., Divize Rigips, manufacturing site in Tarnów, Zabkowice Ślaskie, Poland Data collected for the year 2019 Background data: Ecoinvent (from 2015 to 2016) and GaBi (from 2013 to 2016)
PRODUCT CPC CODE	42190 - Other structures (except prefabricated buildings) and parts of structures, of iron, steel or aluminium; plates, rods, angles, shapes, sections, profiles, tubes and the like, prepared for use in structures, of iron, steel or aluminium; props and similar equipment for scaffolding, shuttering or pitpropping

According to EN 15804, EPDs of construction products may not be comparable if they do not comply with this standard. According to ISO 21930, EPDs might not be comparable if they are from different programmes.

Life cycle stages

Flow diagram of the Life Cycle



Product stage, A1-A3

Description of the stage: the product stage of plaster products is subdivided into 3 modules A1, A2 and A3 respectively "Raw material supply", "transport to manufacturer" and "manufacturing".

A1, raw material supply.

This includes the extraction and processing of all raw materials and energy which occur upstream from the manufacturing process.

A2, transport to the manufacturer.

The raw materials are transported to the manufacturing site. The modelling includes road, boat and/or train transportations of each raw material.

A3, manufacturing.

This module includes the manufacture of products and the manufacture of packaging. The production of packaging material is taken into account at this stage. The processing of any waste arising from this stage is also included.



Figure 1: Manufacturing process flow diagram

Manufacturing in detail:

Rigips steel profiles are manufactured using hot-dip galvanized steel coil produced in the European Union. In Europe, hot-dip galvanized steel coils are generally manufactured via the blast furnace/basic oxygen furnace (BF/BOF) route. The blast furnace route produces pig iron from various forms of iron ore such as sinter, pellets and lump ore with coke as a reducing agent. The pig iron is transferred to the basic oxygen furnace vessel, where it is converted to steel by reducing the carbon content. The BOF vessel is also used to regulate other chemical properties of the steel such as the alloy content. Steel scrap is used in the BOF vessel, primarily for temperature control.

Liquid steel from the BOF vessel is cast into slabs and rolled to produce hot rolled coil. To produce hot-dip galvanized steel, the hot rolled coil is cold rolled, annealed, pickled and coated in zinc. Hot-dip galvanized steel coil are forming and cutting into the specific profiles required for the building application. The products are packaged in plastic straps and loaded onto wooden bearer prior to distribution.

Construction process stage, A4-A5

Description of the stage: the construction process is divided into 2 modules: A4, transport to the building site and A5, installation in the building

A4, transport to the building site.

This module includes transport from the production gate to the building site. Transport is calculated on the basis of a scenario with the parameters described in the following table.

PARAMETER	VALUE (expressed per functional unit)
Fuel type and consumption of vehicle or vehicle type used for transport e.g. long distance truck, boat, etc.	Long distance truck, maximum load weight of 27 t and consumption of 0.38 liters per km
Distance	160 km
Capacity utilisation (including empty returns)	85% (30% empty returns)
Bulk density of transported products	7850 kg/m3
Volume capacity utilisation factor	1

A5, installation into the building.

The accompanying table quantifies the parameters for installing the product at the building site. All installation materials and their waste processing are included.

PARAMETER	VALUE (expressed per functional unit)
Ancillary materials for installation (specified by materials)	Screws: 2 units
Water use	None
Other resource use	None
Quantitative description of energy type (regional mix) and consumption during the installation process	Electricity: 0,2 kWh
Wastage of materials on the building site before waste processing, generated by the product's installation (specified by type)	Rigips profile: 0,05 kg (5%) plastic straps: 0,4 g Wooden bearer: 6 g Screw: 0 kg
Output materials (specified by type) as results of waste processing at the building site e.g. of collection for recycling, for energy recovering, disposal (specified by route)	Metal scraps are considered 85% valorized and 15% landfilled Plastic straps and wooden bearers are landfilled.
Direct emissions to ambient air, soil and water	None

Use stage (excluding potential savings), B1-B7

Description of the stage:

The use stage, related to the building fabric includes:

B1, use or application of the installed product;

B2, maintenance;

B3, repair;

B4, replacement;

B5, refurbishment;

B6, operational energy use

B7, operational water use

Description of scenarios and additional technical information:

The product has a reference service life of 50 years. This assumes that the product will last in situ with no requirements for maintenance, repair, replacement or refurbishment throughout this period. Therefore, it has no impact at this stage.

End-of-life stage C1-C4

Description of the stage: This stage includes the next modules:

- C1, de-construction, demolition;
- C2, transport to waste processing;
- C3, waste processing for reuse, recovery and/or recycling;
- C4, disposal, including provision and all transport, provision of all materials, products and related energy and water use.

Description of the scenarios and additional technical information for the end-of-life:

PARAMETER	VALUE (expressed per functional unit)
Collection process specified by type	85% collected separately for recycling and 15% collected with mixed deconstruction and demolition waste to landfill
Recovery system specified by type	0,85 kg recycled
Disposal specified by type	0.15 kg disposed in landfill
Assumptions for scenario development (e.g. transportation)	Steel profile waste is transported 50 km by truck from deconstruction/demolition sites to treatment plant.

Reuse/recovery/recycling potential, D

Description of the stage: module D has been taken into account.

LCA result

Description of the system boundary (X = Included in LCA, MNA = Module Not Assessed)

CML 2001 has been used as the impact model. Specific data has been supplied by the plant, and generic data come from GABI and Ecoinvent databases.

All emissions to air, water, and soil, and all materials and energy used have been included.

All figures refer to a functional unit of 1 kg Rigips hot-dip galvanized steel profiles for building application.

PR S	ODU TAGI	CT E	CONSTF ST/	RUCTION AGE			USI	E STA	.GE			Е		F LIFI AGE		BENEFITS AND LOADS BEYOND THE SYSTEM BOUNDARY
Raw material supply	Transport	Manufacturing	Transport	Construction-Installation process	Use	Maintenance	Repair	Replacement	Refurbishment	Operational energy use	Operational water use	De-construction demolition	Transport	Waste processing	Disposal	Reuse-recovery
Α1	A2	А3	A4	A5	В1	B2	В3	В4	B5	В6	В7	C1	C2	C3	C4	D
х	X	x	х	х	x	x	x	х	x	х	х	х	X	X		THE STATE OF THE S

					Ш	NVIRON	MENTAL	ENVIRONMENTAL IMPACTS	S							
		Product stage	Construction process stage	uction s stage				Use stage					End-of-l	End-of-life stage		ery,
	Parameters		A4 Transport	8A noitellatenl	B1 Use	B2 Maintenance	B3 Repair	B4 Replacement	BS Refurbishmen f	B6 Operational energy use	FB Operational Mater use	C1 Deconstructio n / demolition	C2 Transport	C3 Waste processing	C4 Disbossl	P Reuse, recov recycling
(AB)	Global Warming Potential (GWP 100) - <i>kg CO₂ equiwFU</i>	2,47E÷00	7,96E-03	2,05E-01 The g	-01 0 The global warming		0 ial of a gas I	11 0 0 0 4,40E-03 4,59E-05 2,151 of global warming potential of a gas refers to the total contribution to global warming resulting from the emission of one unit of that has relative to one unit of the reference has carbon dioxide, which is assigned a value of 1	0 total contril	0 bution to glo	obal warmin	4,40E-03 g resulting f	4,59E-05 from the em	2,15E-03 nission of 1	2,23E-03	MNA
		7,57E-10	1,30E-18	3,78E-11	0		0	0		0	0	6,37E-19	7,51E-21	7,14E-18	1,12E-17	MNA
	Ozone Depletion (ODP) kg CFC 11 equiwFU		This dest	Destruction of the This destruction of ozone is caused which break d	estruction zone is ca which bre	of the strate used by the eak down w	ospheric ozc breakdown rhen they rea	Destruction of the stratospheric ozone layer which shields the earth from ultraviolet radiation harmful to life. ozone is caused by the breakdown of certain chlorine and/or bromine containing compounds (chlorofluorocarbons or halons), which break down when they reach the stratosphere and then catalytically destroy ozone molecules.	tich shields thorine and tosphere ar	the earth fra for bromine of then cata	om ultraviol containing llytically des	et radiation compounds troy ozone i	harmful to li (chlorofluo molecules.	ife. rocarbons o	ır halons),	
	Acidification potential (AP)	5,71E-03	3,18E-05	4,55E-04	0	0	0	0	0	0	0	5,53E-06		1,83E-07 1,51E-05	1,31E-05	MNA
	kg SO ₂ equiv/FU	_	The main so	Acion Acion	d depositio	ns have ne acidifying s	gative imparubstances	Acid depositions have negative impacts on natural ecosystems and the man-made environment incl, buildings. r emissions of acidifying substances are agriculture and fossil fuel combustion used for electricity production, h	al ecosysterine and foss	ms and the il fuel comb	man-made ustion used	environmen for electrici	nt incl, buildi ty productic	ings. on, heating a	Acid depositions have negative impacts on natural ecosystems and the man-made environment incl, buildings. The main sources for emissions of acidifying substances are agriculture and fossil fuel combustion used for electricity production, heating and transport.	
*	Eutrophication potential (EP) ka (PO ₄) ² eauiv/FU	5,98E-04	7,98E-06	4,82E-05	0	0	0	0	0	0	0	8,50E-07	4,60E-08	3,62E-06	1,48E-06	MNA
				Excess	ive enrichr	nent of wat	ers and con	Excessive enrichment of waters and continental surfaces with nutrients, and the associated adverse biological effects.	aces with n	utrients, and	d the associ	ated advers	e biological	l effects.		
	Photochemical ozone	1,25E-05	1,26E-06	5,85E-05	0	0	0	0	0	0	0	6,36E-07	7,27E-09	1,67E-06	1,07E-06	MNA
	creation (FOPC) kg Ethylene equiv/FU		The	The reaction of nitrogen oxides	nitrogen o>	Cl kides with h	hemical reac ydrocarbons	Chemical reactions brought about by the light energy of the sun. with hydrocarbons in the presence of sunlight to form ozone is an example of a photochemical reaction.	ht about by ence of sur	the light en light to form	nergy of the	sun. ın example o	of a photock	nemical read	ction.	
	Abiotic depletion potential for non-fossil ressources (ADP-elements) - kg Sb equiv/FU	9,57E-07	6,55E-10	1,74E-07	0	0	0	0	0	0	0	1,29E-10	3,77E-12	2,44E-09	7,80E-10	MNA
at the	Abiotic depletion potential for fossil ressources (ADP-fossil	2,40E+01	1,08E-01	2,09E+00	0	0	0	0	0	0	0	5,87E-02	6,23E-04	4,17E-02	E-02 STORE OF WARMAN	PRINA
•	fuels) - <i>MJ/FU</i>				Consumption	ption of nor	n-renewable	of non-renewable resources, thereby lowering their availability for future generations.	thereby low	rering their	availability f	or future ge	nerations.	CERI		EPD

				~	ESOUF	RESOURCE USE	ш								
	Product stage	Construction process stage	Construction process stage				Use stage	ebi				End-of-li	End-of-life stage		۰٬۲
Parameters	EA \ SA \ \ \ \ \	A4 Transport	A5 noitallatanl	B1 Use	B2 Maintenance	B3 Repair	Replacement B4	B5 Refurbishment	B6 Operational energy use	FR Operational water use	C1 Deconstruction \ demolition	C2 Transport	C3 Waste processing	Djeboes C¢	D Reuse, recover recycling
Use of renewable primary energy excluding renewable primary energy resources used as raw materials <i>MJFU</i>	5,45E-01	6,09E-03	6,19E-01	0	0	0	0	0	0	0	1,95E-04	3,51E-05	3,11E-03	3,91E-03	MNA
Use of renewable primary energy used as raw materials MJ/FU	0	0	0	0	0	0	0	0	0	0	0	0	0	0	MNA
Total use of renewable primary energy resources (primary energy and primary energy resources used as raw materials) MJ/FU	5,45E-01	6,09E-03	6,19E-01	0	0	0	0	0	0	0	1,95E-04	3,51E-05	3,11E-03	3,91E-03	MNA
Use of non-renewable primary energy excluding non-renewable primary energy resources used as raw materials - MJ/FU	2,43E+01	1,08E-01	2,61E+00	0	0	0	0	0	0	0	5,89E-02	6,25E-04	4,32E-02	2,99E-02	MNA
Use of non-renewable primary energy used as raw materials MJ/FU	0,00E+00	0	0,00E+00	0	0	0	0	0	0	0	0	0	0	0	MNA
Total use of non-renewable primary energy resources (primary energy and primary energy resources used as raw materials) - MJ/FU	2,43E+01	1,08E-01	2,61E+00	0	0	0	0	0	0	0	5,89E-02	6,25E-04	4,32E-02	2,99E-02	MNA
Use of secondary material kg/FU	9,49E-02	0	4,75E-03	0	0	0	0	0	0	0	0	0	0	0	MNA
Use of renewable secondary fuels-	0	0	0	0	0	0	0	0	0	0	0	0	0	0	MNA
Use of non-renewable secondary fuels -	0	0	0	0	0	0	0	0	0	0	0	0	0	SENI ORGAN	MNA
Use of net fresh water - m³/FU	2,19E-03	7,05E-06	8,10E-04	0	0	0	0	0	0	0	4,34E-07	4,06E-08	1,22E-05	EGE THE OF INNER	OEPE
						σ							aveste.		

	'ƙua	D Reuse, recove recycling	MNA	MNA	WAND THE WAND
		Disposal C4	4,55E-10	1,50E-01	adored P. Co.
	fe stage	C3 Waste processing	1,13E-09	1,17E-05	5,70E-07
	End-of-life stage	Lsusbort C2	2,91E-11	9,56E-08	7,73E-10
		C1 Deconstruction \ demolition	5,81E-12	1,29E-05	6,46E-08
		B7 Operational water use	0	0	0
		B6 Operational energy use	0	0	0
		B5 Refurbishment	0	0	0
ORIES	Use stage	Keplacement B4	0	0	0
ASTE CATEGORIES		B3 Repair	0	0	0
WAST		eonsnetnisM SB	0	0	0
		B1 Use	0	0	0
	Construction process stage	SA noitallatenl	1,04E-07	1,25E-02	2,04E-04
	Constr	A4 Transport	5,04E-09	1,66E-05	1,03E-06 1,34E-07 2,04E-04
	Product stage		1,93E-06	7,92E-02	1,03E-06
		Parameters	Hazardous waste disposed kg/FU	Non-hazardous (excluding inert) waste disposed kg/FU	Radioactive waste disposed kg/FU

Parameters Parameters Parameters Parameters Parameters Parameters Parameters Parameters Parameters An I AAY AA A A A Stage		در)،	D Reuse, recove recycling	MNA	MNA	MNA	MNA
Parameters Components for re-use Components for re-use Components for re-use Materials for energy recovery Materials for energy recovery Components for re-use Components for re-use Components for re-use Materials for energy recovery Materials for energy recovery Components for re-use Components for re-use Components for re-use Materials for energy recovery Components for re-use Components for re-use Components for re-use Materials for energy recovery Components for re-use Com		7.40		<	-	-	A STATE OF THE STA
Parameters Product Construction Parameters Para				0	0	0	ENI OBO
Product Construction Stage Product Construction Stage Product Construction Stage Product Construction Stage Product Construction A		ife stage	9126W	0	0	0	SILI
Product Construction Stage Product Construction Stage Product Construction Stage Product Product Product Construction Stage Product Components for re-use A1 \ A2 \ A3 \ A4		End-of-li		0	0	0	0
Parameters Product Stage Product Stage Product Stage Product Stage Product Stage Product Parameters Paramet			Deconstruction	0	0	0	0
Product Stage Product Stage Product Stage Product Stage Product Stage Product Prod			Operational	0	0	0	0
Parameters Parameters Parameters Parameters Parameters Parameters Parameters Components for re-use			Operational	0	0	0	0
Parameters Product Construction Stage Product Stage Product Product Stage Process stage Process stage Product Product Process stage Process stage Process stage Process stage Product Product Product Product Process stage Product				0	0	0	0
Parameters Components for re-use Components for recycling Materials for energy recovery Exported energy, detailed by Construction Product Construction A 4 A 55E-02 Construction A 5 A 4 A 5 A 5 A 5 A 5 A 5 A 5 A 5 A 5	SMC	Use stage		0	0	0	0
Parameters Components for re-use Components for recycling Materials for energy recovery Exported energy, detailed by Construction Product Construction A 4 A 55E-02 Construction A 5 A 4 A 5 A 5 A 5 A 5 A 5 A 5 A 5 A 5	TPUT FL			0	0	0	0
Components for re-use Raterials for energy recovery Materials for energy, detailed by energy carrier MJ/FU Exported energy, detailed by energy carrier MJ/FU Parameters A4 A4 A4 A55 A55 A55 A55 A55	OO.			0	0	0	0
Components for re-use 0 0 0 Materials for energy recovery 0 0 0 Exported energy, detailed by 0 0 0			B1 Use	0	0	0	0
Parameters Components for re-use kg/FU Materials for energy recovery kg/FU Exported energy, detailed by energy carrier MM/FU O		ruction ss stage	SA noitallatanl	0	4,25E-02	0	0
Parameters Components for re-use kg/FU Materials for recycling kg/FU Materials for energy recovery kg/FU Exported energy, detailed by energy carrier MM/FU		Const	A4 Transport	0	0	0	0
		Product stage	EA1SA1FA	0	0	0	0
			Parameters	Components for re-use kg/FU		Materials for energy recovery kg/FU	
				6	6	6	40

LCA results interpretation

The following figure refers to a functional unit of 1 kg Rigips hot-dip galvanized steel profiles for building application.



- [1] This indicator corresponds to the abiotic depletion potential of fossil resources.
- [2] This indicator corresponds to the total use of primary energy.
- [3] This indicator corresponds to the use of net fresh water.
- [4] This indicator corresponds to the sum of hazardous, non-hazardous and radioactive waste disposed.

The product stage (A1-A3) is responsible for over 91% of Rigips metal profiles in its lifetime for the following impacts: Global warming, Non-renewable resources consumption, Energy consumption and Water consumption.

The main source of impact occurs in A1 (production of raw material) due to steel production is an intensive process requiring a lot of energy and raw materials, however increasing high levels of recycled content helps to lower it.

Some impact can be seen in stage A5, installation, as a small amount of product is lost when products are cut to size at the construction site.

Additional information

Electricity description

TYPE OF INFORMATION	DESCRIPTION
Location	Representative of average production in Poland
Geographical representativeness description	Split of energy sources in Poland: - Biogass: 0.59% - Biomass: 3.93% - Coal gases: 1.48% - Geo-thermal: 5.44% - Hard coal: 45.14% - Heavy fuel oil: 1.31% - Hydro: 1.49% - Lignite: 28.95% - Natural gas: 4.45% - Photovoltaic: 0.07% - Wind: 7.15%
Reference year	2019
Type of data set	Cradle to gate
Source	GaBi database from 2020 version
GWP (kg CO2 eq./kWh)	0,99 Electricity mix 2019 0,07% 7,16% 0,00% 0,59% 3,93% 1,48%
28,95%	Biogas Biomass_solid Coal_gases Hard_coal HFO Hydro Lignite Natural_gas Nuclear Photovoltaics Wind

References

- 1. EPD International (2017) General Programme Instructions for the International EPD® System. Version 3.0, dated 2017-12-11. www.environdec.com.
- 2. The International EPD System PCR 2012:01 Construction products and Construction services, Version 2.3
- 3. EN 15804:2012 + A1:2013 Sustainability of construction works Environmental product declarations Core rules for the product category of construction products
- 4. ISO 21930:2007 Sustainability in building construction Environmental declaration of building products
- 5. ISO 14025:2006 Environmental labels and declarations Type III environmental declarations Principles and procedures
- 6. ISO 14040:2006 Environmental management. Life cycle assessment. Principles and framework
- 7. ISO 14044:2006 Environmental management. Life cycle assessment. Requirements and guidelines
- 8. Saint-Gobain Environmental Product Declaration Methodological Guide for Construction Products, Version 3.0.1 (2013)
- 9. European Chemical Agency, Candidate List of substances of very high concern for Authorisation. http://echa.europa.eu/chem_data/authorisation_process/candidate_list_table_en.asp
- 10. Guinée J B, Gorrée M, Heijungs R, Huppes G, Kleijn R, de Koning A, van Oers L, Sleeswijk A W, Suh S, Udo de Haes H A, de Bruijn H, van Duin R, Huijbregts M A J, Lindeijer E, Roorda A A H, van der Ven B L, Weidema B P; 2001; Life cycle assessment an operational guide to the ISO standards; CML Leiden University
- 11. GaBi LCI databases, 2014: GaBi Product Sustainability Software: www.gabi-software.
- 12. Life cycle inventory methodology report for steel products. World Steel Association 201